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Question Number : 1 Question Id : 550053961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a set A has n elements. then the number of functions defined from A to A that are
110t one-one 18

AE A & 1 dareseen &ot, SR\ A dod AS 0D ffo) S S

D00LrR 003

Options :

2
1. % (n)*
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Question Number : 2 Question Id : 550053962 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Pl
.

X)1is the signum function, then m terms of f(x), the constant function
L "xeR 18

Options
_[2-1(x). x<0
g(}{) . x>0
1. %
g(x) ZJf(X)_:f(_X)-. x <0
.. [f(x)f(-x), x20
u(?'i)=<l:1*f(x)- X =0



f(x)+2. x<0
g(x):T+t‘(x). X=40

f(x). X > 0
4.« )

Question Number : 3 Question Id : 550053963 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 1 3]
If A=[5 2 6. then A+A*+A*+ A’ +31=
ol 3 8
1 1 3]
A=|5 2 6| 0ond, 93D A+ A +A* + A’ +31=
-2 -1 -3
Options :
) ) .
2 5 6
3 2
1. % -
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Question Number : 4 Question Id : 550053964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the solution for the system of equations x+2y-z=3, 3x-y+2z=1and
2x-2y+3z=2 is (a.p.y). then @’ +B*+7° =

X+2y-2=3, 3x-y+2z=1 Sodan 2x-2y+3z=2 HssEe S'J?Sb‘ré)} axs)
Fe& (0,B,7) wond, L) Nak a0 +pT 4y =

Options :

5
2

(Y]

Question Number : 5 Question Id : 550053965 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

(210 x
If [x 4 -1]|1 0 2| 4 |=0. thenx =
102 4] -1

— e ==

2101
[x 4 —1]|1 02| 4 |=0 wowd, eyt x =
10241

Options :

~1++/6

Question Number : 6 Question Id : 550053966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: o . b, Z
For real mumbers aand b, if 4a+1(3a-b)=b-61 and z=a+—1. then U =
Fi a

b.
TR D0ed{e a dody b, 4a+i(3a-b)=b-61 bt z:a;zl

00D, W)\ H:
=

Options :

Question Number : 7 Question Id : 550053967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If z=(1-1)’(x+1) is a purely imaginary number for x = X, and 1f z 15 a purely real
number for X =x,. then X,X,=
x=x,8 z=(1-1)(x+1) g 306 $0& Doy B X=X, 7 28 B¢ TS
i o
Q0] VOB, B\ XX,
Options :

1. ¢ =]



Question Number : 8 Question Id : 550053968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

7 ; 3 i ;
If 1, w, o~ are the cube roots of unity, k is positive mteger and

(I~o+0’* +{-0'+0)* = (I-o+o ) +(+o-0' )

.then k=
L 0,0 0 5850 60g) wdsureren, k a8 ¢ RPTodin 8ok
(l-0+0 ) +(1-0"+0) " = (—o+o’ ) +(1+0-0")"" wand, w)\Ok =

Options :

[
:
=
i
b
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Question Number : 9 Question Id : 550053969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If . P are the two real roots of 4™ yoots of unity and .9 ate the other two roots of it,

then the sum of the eccentricities of the conics [z-0]+/z-p|=4 and
z-y|+2-8 =6 is

D850 AR08 45 urered’ oty RS dureren a, B By DA Boctd
e 1.0 eond, oy Z-0|+[z—p|=4 Sobato |z—7|+[z-9|=6

FOSTL A0Y), &B), 0680 Ao

J

Options :

N | n

1. %
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th | =

Question Number : 10 Question Id : 550053970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2
The set {xe R:16(2%) >16% L:

|
L
J

-1
DS {x ceR:16(2%) >16%

Options :

{KER:};::-U}
1.4

- {xeR:x<0}

Question Number : 11 Question Id : 550053971 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The set {}{ ceR:4+11%x-3x%> O} 1s the mterval

w,

a3 {XEEZ4+]1X—3}{E > U}@CBJTS (Tlelxlale

Options :
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Iy !- *--,II

“ 7
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Question Number : 12 Question Id : 550053972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the sum of the cubes of the roots of the equation x° —ax’ +bx—c =0 is zero, then
a +3c=

2R46eE0 X —ax’ +bx-c=0 GBE) SaPB0R CVE) AP 0o
T oS, R\ a +3c=
Options :

—2ab

2ab



4 3ab

Question Number : 13 Question Id : 550053973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a.B.v are the roots of X° +2x+5=0, then ZB P
n
: : §+v
of.yen X +23+5=0 ciog) reren wond, W)y ¥ 7=
Options :
2
5
1. #
1
2. % O
2
3¢ 2
3
3
4. %

Question Number : 14 Question Id : 550053974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



i i . ; 9 g
If the numerically greatest term in the expansion of (2-3x) when x =1is

PP PP} P} (P, <P, <P, <P, are the first four prime numbers). then o+ +7+3=
x=1 LRI\ (2-3x) Qg DB’ Dog(s) Sor 162 ek

PPy P, (B <P, <P, <P, w0 westy enrh Had dopfen) wowd, ey
o+p+y+0=

Options :

1.‘#13

12
3. F }.4

1

Question Number : 15 Question Id : 550053975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of all 8 digit odd numbers is

E’:}QL 8 e903e) &3 :::oa::?se.n JrQGE,J?S
Options :

| v 45x10°

90x10°

2.



9%10°

9x10°

Question Number : 16 Question Id : 550053976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The degree of the polynomial (x +alx* <1 .)9 + (*{ —ax* -1 -.)9 is
(Xﬂj};"‘ —1')9 +(x—x}x4 —lx]gmm;‘.}& V), S6MHS

i

Options:

Question Number : 17 Question Id : 550053977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of all four digit numbers which begin with 4 and end with either zero or
five i3

T & 0B, W) o od) & e.aoefamoj35 e.ei')cl Tefh 030 ;boajtgu

‘bo&}g

Options :
)
, o« 200

64

Question Number : 18 Question Id : 550053978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(n)=n!(31-n)!, where ne {O i — 31}~rhe11 the minimum value of f(n)

is
f(n)=0!(31-n), nef0, 1, 2, ..., 31} eond, o)\ (1) g, S92 dews
Options :

(151) (15!)

1. %

(151) (14!)
2. %



(141) (16!)

(15!) (16!)

4, &

Question Number : 19 Question Id : 550053979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tan A | COt A B
l1-cotA | l-tan A

Options :
sec AcosecA—1

1. %

5 % tADA+COtA

3 ¢ tan A +cot A +1

secA +cosec A4

Question Number : 20 Question Id : 550053980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the ranges of the functions given in List — A with those of the items given in
List-B

0 = A 6 ady® pdare TRUw, #0T - B & adyd wotdned

2008
List-A @de -A List-B 2dz -B
2 ", _1
(D) 3sin"x+4cos x-2 (a) 1,1
(I) cos’x+sin'x (b) _—l~ l}
: o ‘ 4 4
(IM)  sin°x +cos’x (©)[12]
(@ 3.1]
) () =
cosxcosi—ﬂjcos ——X|
w G 0.

Options :

1)=@© (D)@ (M- @ (V) ®)

1. %

(D= (I)—> @ (@)@ ([IV)-> b

2. ¢

. (1)>®) (O)— (@ (- (@ (IV)—> (e)

(=) (D)= (e ()@ (IV)— ()

4. %



Question Number : 21 Question Id : 550053981 Display Question Number : Yes Is Question
Time: 0

In AABC,

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

sin2A +sin2B+sin2C

cosA +cosB+cosC—1
AABC & sin2A +sm2B+sm2C

cosA+cosB+cosC-1
Options :

E[Sﬁlﬂ-l-ﬁilleSillC]
1. %

sinA+sinB+sinC

4 [sin A+smB+sin C]
3. #

8[5mA+SillB +s1n C‘]
4. %

Question Number : 22 Question Id : 550053982 Display Question Number : Yes Is Question
Time: 0

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

c0s12°.cos24° cos36°.cos48°.cos72%.cos84° =
Options :

!

32
1.% 7



Question Number : 23 Question Id : 550053983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If . B are acute angles such that sinp=2sma and 3cosp=2cosa, then
sec(a+p) =

st =2smo &Baso 3cos=2c0s o it o, f oo V0 Seren wond,
9ol sec(a+f) =
Options :

4
1.+
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Question Number : 24 Question Id : 550053984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

q -
If sinhx= l_ then cosh % =

r-2

: 5 3
sinh X = — es008, ) ¢ cosh s
12 2

Options :

Question Number : 25 Question Id : 550053985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



.\'.

. i A B i
In AABC, | tan—+tan— | tan— =
{ g b il
L - - o
, ( A B C
A ABC &5, | tan—+tan— | tan—=
. 2 2 ) 2
\ & s
Options :
2¢
1@ a+b+c
2¢
, » atb-c
2¢?
g 3 3
8 -+ e
3, %
C
4 % atb+c

Question Number : 26 Question Id : 550053986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC. if £C =90°, then

y

=

AABC®’ ZC =90° 9008, 23y

4
Options :

1

A
#
)

)

Question Number : 27 Question Id : 550053987 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC, A, B and C are in arithmetic progression and a:c=1:2. If b= 4\/§ em,
then the area of AABC (in Sq. cm) is

AABC & A, B, 0Basw C 0836 & &) ow oot a:e=1:2

b=4{3 0.2 wowd, W\t AABC FT{uo (3:200. o)

Options :



Question Number : 28 Question Id : 550053988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T j
9 A + 0 then a.A+bB=

198" -%-20 @45 32+b
et = +ﬂB ond, w3y aA+bB=

12%x2-x-20 ax+5 3x+b

If

Options :



Question Number : 29 Question Id : 550053989 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let a.b and ¢ be any three non coplanar vectors. If m. n are scalars such that
a+b=md-c and b+c=na-d, then3a+2b+2c+d=

2.b 0Baky ¢ en P Areh w3dad HB%vRDTe. a+b=md-c wBako

b+c=na—d @@5&@W 10, 11 &0 $8&%0) oS, RN 3a+2b+2c+d=
Options:

| a—d

a+d

=

Question Number : 30 Question Id : 550053990 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If 2i+j-k fos a] +5k and -3i +4j 4k are the position vectors of three points A, B
and C respectively, then

21+ j-k, 1-3j+5k Sobakw -3i+4j+4k ev A e Dododen A, B
0k € © gw NEITS, Yy
Options :

ABC is a right angled triangle

ABC 28 w02 St G020

1. %

ABC is an isosceles triangle

ABC 208 22000 Sabo
2. %

A. B, C are collinear points

A, B, C e 28Dadh Dododew
3. ®

ABC is a scalene triangle

ABC 28 D00 ey SFdo
4.

Question Number : 31 Question Id : 550053991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let L be the line passing through the pﬂimsi—F)E and 73+E and 7 be the plane

passing through the point 61—] and perpendicular to the vector i+ J-I-E. If 6 is the
angle between L and 7, then sinf =

i-9k 2080h0 7j+k Dotosyw ot ik H6Y Gk L 20805061 + ]
Docodrbote AP 1+]+k 0B woworT od Swody T w0,

L $0805 7 © mcszgﬁwﬁf 20 8 008, B\ sinfh=

Options :

82

1.v 13

43
b

[—
L.u|"“‘]

2
I

()
th

Question Number : 32 Question Id : 550053992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If OA= 2i-j+k OB= 3i-k and OC =2j 3k are the position vectors of the
points A, B and C, then a unit vector perpendicular to the plane containing A,B and
Cis

0A= 2i-j+k OB= 3i-k 28asn OC=2j+3kew AB 080ko C wd
DothddH® gmaaéam@, s\ AB SoBasn € ok 998 &) derds

DO &0G & 08 2O%

Options:
8i—4j+2k
e 221
6i+2j+3k
2. % 7
9i+2j+ 6k
- 11
8i+2j+ 5k
.,||I 3
4,

Question Number : 33 Question Id : 550053993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Leth =3i-2 ] +k and c =i —]—Ebe two vectors. If a is a vector such that
¢ —-E—! ‘26. then EXB—BXE‘FEX;‘ =

b =3i-2j+k 208atn ¢ =i-j-k ot 2B%wRL00m0, a+b+c=0
LW (Vb a 0D w8 H0% &of, SN ‘5><E+E><E+Ex§ =
Options :

15

1. %

Question Number : 34 Question Id : 550053994 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If each of the observations X, Xy, ..., X, is increased or decreased by k, where k is a
positive number, then the variance of the data thus obtaned

HOFVX X1 X0, ... X OF @@wbl k 8 Hodr doe ejﬁoénv (k 28 68
R0} S8y BT0FAD TS, DYB
Options :

1. %



increases by k

K 2d0reood

do not change

babileln®)

is equal to K

K & 375550

is equal to 2k

2k S HDA5rHA0

Question Number : 35 Question Id : 550053995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If S be the sample space of a random experiment & and P be a probability function

defined on the power set P(S) of S. then which one of the following is not satisfied
by P?

(1) P(9)=0

(ii) If E* is the complementary event of E, then P[:E“) = 1-P(E)

() 0<PE)<1, VECS

(iv)If E; c Eythen P(E,)<P(E,)

3 aircyhS pairrio & axg), TS B36£20 S B0 § 0IE) S VI
P(8)  ADodudd ws Dogrder 20000 P koo, 9yt Sod S
P &0 HEIE

(1) P(9)=0

(ii) E 8 rds sobd E° wand, P(E°) = 1-P(E)

() 0<P(E)<1, VECS

(iv) E1 ¢ E; wowidapcd P(E,)<P(E,)

Options :

., (D)
o, @
3. % (1)

4% (O



Question Number : 36 Question Id : 550053996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B simultaneously toss one coin each every time, each 50 times, then the
probability of not getting tail on both the cotns i

A SoBokw B o0 888 Ty 08) 8,60 50 ¢ O-F8 désewod” DY,

Y & Tocd UM & DELET ka3 (o NI

Options :
/ %-\50
Ty,
1.4
/2 v 30
L3
2.%
1 50
3 S '-.\3 _.-!
i 1 "'.jﬂ
l,_E |
4% N2/

Question Number : 37 Question Id : 550053997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A pair of dice 1s thrown. Then the probability that either of the dice shows 2 when
their sum 1s 6 is

w8 SPOSL Aoy Ay BBomrth. & FALR Vo Ao 6 LAY T’
D8 2,88 2 &0 4rd Vogridyd

Options :

#®
b | =

h| =

2. %

h| ko

|

Question Number : 38 Question Id : 550053998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B are any two events of a sample space, then set-theoretic description for
the event: “Exactly one of the events A. B to occur™ is

(Here E° denotes the compliment of the event E)
28 QIPENE DAPARY) ToR)P 86nd” A, B ev Goch) vbiey wond, ‘AB
0f p\Sorr 2,88 Ard adtio” B3 WD WS drd S8 (wg ¢ E

el bR E OEJJSEJ 2TES WD Ared)



Options :

1 %« AnB°

(A-B)u(AUB)

(AnB*)U(A°NB)
3. ¢ : ’

(AnB) U(A°~B°)
4, % ' ; ‘

Question Number : 39 Question Id : 550053999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the mean and variance of a binomial variable X are 2.4 and 1.44 respectively. then
the parameters n and p are respectively

w8 G106 o3 X g, 08600, B0 HEIM 2.4 dobatbn 1.4

0B, WD\ DTS 11 0B P & ST

Options :



E.'..‘-"\.
| )

s
) | =

4. %

Question Number : 40 Question Id : 5500531000 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a Bernoulli trial 1s conducted n times, then

Which one of the following is not suitable to use Poisson distribution?

(1) Each trial results in two mutually exclusive outcomes namely success, failure
(i1) The number ‘0" of such trials is sufficiently large.

(ii1) The trails are independent of each other.

(vi) The probability ‘p’ of success in each trial is very large.

w8 507 D 0108 00 11 0 288, Bt &

408 TS’ A& Fovad NTaT) EOGErAoSS SHG TW?

(1) 23 Oibégo Ao0%Y), &taad 9 Gotd E.’Jd'é)bé Qég@ pdTod b @"3}30&.
(if) ero) aTe) & o 17 BAH0S DEBILE.

() ¢ atoeey e 262,00 2(B0SRI9.

(iv) 5 ol 08" Aenzy) dg) Dozrd P’ e 5.

Options :

e )



(111)

(11)

(1)

Question Number : 41 Question Id : 5500531001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The locus of the point which 1s equidistant from the point (11) and the line

X+y+1=01s
(L1) Dochosd) &00d &8k X+y+1=0 268 L0l i drdods” &)
2ot 03:05'6 Dotddo

Options :

X -y +6x+4y-3=0

1. %

4 % X' +y° —2x—2y+4=0



Question Number : 42 Question Id : 5500531002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the y-intercept of the perpendicular bisector of the line segment joining
P(1.4) and Q(k.3) i5—4. then a possible value of k is

P(L4) 9600 Q(l3) Dochyorto $9 B G308 vow DSEOLS 62
Gh0), y-0086 octo —4 wand, B\ k g FEOE s dend

Options :

Question Number : 43 Question Id : 5500531003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A straight line L at a distance of 4 units from the origin makes positive intercepts on
the coordinate axes and the perpendicular drawn from the origin to this line makes an

angle of 60" with the line x +y=0. Then the equation of the line L is

P Dockvig) Ao 4 AhrY Arded’ &) w8 HEWT L ATFISTETOR 6
290838 0rre) B'08 B0k Bure Do) KVod & VBV D A woto
X+y=0 09 & 60°Eea0 3T0B. e\ &0 06 G2 L civg) 20edeao

Options :

. (BeDx+(E-ny=8v2

L (B-Dx+(3+Dy=8V2

2.9

- \/§X+y:8

x+\/§y:8

4. %

Question Number : 44 Question Id : 5500531004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If p and q are the x and y — intercepts respectively of the line passing through the
% ]
; : . a” b
points (acosc.bsino) and (acosp,bsmp), then —+— =
P4

P 08050 q e SR (acosc.bsina) du8okw (acosp,bsmp) Dotbspe Moz

1 9

£ b-_
Sl B¢ B2 Gwg) X SB0 Y- woSEPIETS, B\ a_2+_q -

Pq



Options :

Question Number : 45 Question Id : 5500531005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ad # Oand two of the lines represented by ax’ +3bx’y + 3exy’ +dy’ =0 are
perpendicular, then

ad 20 2805 ax’ +30x’y+3exy” +dv’ =0 & Ardod o d9v & Fo Saen

D0OTT 6083, W)Y
Options :

- a’+ac+bd+d*=0

a’+3ac+3bd+d*=0



a’—3ac—3bd+d*=0

Question Number : 46 Question Id : 5500531006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The absolute value of the tangent of the difference of the angles made by the lines
4" - 2xy +11y° =0 with the X-axis is

45" - Uxy+11y" = 03 ardod 0 H6¥ e X -0g0 & Sotn Srro B6aw

o?uoégj 0% 08 PG .;‘me.;s D00

Options :

4

| 4=

11

-



Question Number : 47 Question Id : 5500531007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the extremities of a diagonal of a square are (1.-2.3) and (2,-3.5), then the
length of its side 1

28 B9800 AVE) w8 G20 edDodiiw AEFds (1.-2.3) bk

(2,-3.5) wowd, o o), gz e

Options :

Question Number : 48 Question Id : 5500531008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Coordinate planes and the planes ,,7,, 7, which are respectively parallel to YZ,

ZX, XY planes at distances a, b, ¢, form a rectangular parallelepiped. d; is a
diagonal of the face on XY -plane not passing through origin and d, 1s diagonal of

plane 7, coterminous with d;. If none of the coordinates of the vertices of the

parallelepiped are negative and angle between d; and d is 0, then cosf=

QEragdvane Sdaiw YZ, ZX. XY dered vdroddorr ot a, b, ¢

Srood €0l Sapc) SEreD T, T, Tyew 8 B8 280 J6\COSIT) 0.

XY- doop &) &Y wido dwards Mo Dot thoe J'de) a8 dsdo d;

28050 d1 § BP0 Golbrrr T, Swo g, Dgdo dy. BY Doo

o&wégj B %go cfmégj QETOZ VTS S s%g}&') Sobadn di, dy © :nasig €m0

6 eond, )Y C0s6=

Options :

-

a

JaZ+b2ifa2+c?

1.4
a
2 T
5 % d ——b +C
T
3. % 2

3

2
4w \/az —-blijz +c

Question Number : 49 Question Id

: 5500531009 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An equation of a plane parallel to the plane x -2y +2z-5=0 and which is at one
unit distance from the origin is

X-2y+22-5=0 £ ddrossdorr eobar 8k dure Dot Aod ws
QP G608’ o B RGO

Options :

X=2y4+27=1=0D

Question Number : 50 Question Id : 5500531010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A circle S touches Y—axis at (0. 3) and makes an intercept of length 8 units on
X—axis. If the centre C of the circle S lies in the second quadrant, then the distance
of C from the point (=2, —1) is

S 0 a8 Hdo V- omd) (0, 3) 96 Dyy3anesd by X—wgo p 8 abrdy
T to wods pored) S0o8. o S g Sogo C Boctsd FcodS’ ol
(—2. 1) Dot Avod C S o &rdo

Options :



> = 10

Question Number : 51 Question Id : 5500531011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the equation of the circle of radius 3 units which touches the circle

X' +7 +6x-8y-11 = Oexternally at (3. 0)is X"+ +2gx+2fy+c=0, then

Jg—4f +c=

X' +y +6x-8y-11 =0 TR (3. 0) G erirforr Ry, 3 Aardiw

T go SDAD 2,8 S0 g gomo X +y +2ex+ 2y +e=0 wond,

W)\® 3g-4f+e=

Options :



Question Number : 52 Question Id : 5500531012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Tangent L, =3x-4y-8=0 and the chord L, =x+y-1=0 are at a distance of

2 and +2 unis respectively from the centre of a circle S. (I, k) s the centre of

S such that h* +k° =13. If the midpornt of the chord L, =01s (o.p) and the radius
of the circle is r, then o +p+1=

0\8y8 Ly =3x~4y-8=0 doboso ar§ L, =x+y-1=0 ev S0 § ciog),
Sogso 003 SER 2 Bty 2 ahrdl drded’ amyow. I+ =13
R0 TP § g Sodo (1. k) &oB. Ly =0 arf aiws) dodsy Docod) (01.p)
o, 8 S8 TrGo 1 WS, WP\ o+p1=

Options :

-

(4

Question Number : 53 Question Id : 5500531013 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The polar of a point with respect to the circle x”+y" ~10x+12y-3=0which is not
a tangent and not a chord of contact is

X +y - 10x+12y-3=0 o cﬁa§°5, 2 9y6) 89 B0k w8 D6, &
S°000:08) 28 oo A0S, (o> Ga)

Options :

2% +3y+8=0

x+4y+5=0

2. %
12y =)

3. %
6X —8y+15=0

4,

Question Number : 54 Question Id : 5500531014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the angle between the circles x* +y* +2x -4y +1=0and x* +y* ~4x-2y+c=0
T
is —, then ¢ =
X 4y +2x-4y+1=0 S8oo X +y -4x-2y+c=0 0d Sz 206 (0
T
&0 y wond, B\ ¢=

Options:



1.¢
2 x 713
;3 « —3orl3

~—31 or—3
W

Question Number : 55 Question Id : 5500531015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let a focal chord 12x+5y-27=0 of the parabola y* = kx ntersect the parabola at
the points P and P! If'S is the focus of this parabola. then 9(SP+ Sp! ) =

v =kxed dodeoo ang, T 12x+5y-27=0, & drduoirdy
P obatn P! Dockodye 96 podiporsioborre. & prswabo aing
S 00, B 9(SP+SP') =
Options :

1% 27
108

16 SP.SP!
3. %



: -pl
A 4 SP.SP

Question Number : 56 Question Id : 5500531016 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let E be an ellipse whose major axis is X-axis and minor axis is Y-axis. If the

L] 3

: . [
distance of a point ; E Zﬁ

X s

: .1 13 .
on E from its foci are y and I then the eccentricity
of the ellipse E i

X- o) brgomdr, Y- omd) gasomir $908 s 86 Sz

bt

09 Docvs)) AWod TN TFVD Ko Aroeen

4

E wdodomo. Ep o \ g.zx/ﬁ

0003w E 0ond, & &Y D)o E adog) &Eﬁgoéeﬁ
) @ Vo J -

-

[ R |

Options :

1 \/ 3 -"ll 5

Question Number : 57 Question Id : 5500531017 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

kY

(7) (3m . ) .
If P; — ;and Q‘ % are two points on the hyperbola 4x” -y -8x-2y-13=01n
/ '

L

r

parametric form, then the distance between P and Q i

[

3 ) i | ( in )
A" -y -8x-2y-13=0 e&doedwabo Ph | snBodn Q‘ % %
Lo Gak Ered R0y Gocd Dodop@a, i)\ P ofay Q o st
Grdo

Options :

16

1. %

Question Number : 58 Question Id : 5500531018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the point (1. 1) and the origin lie in the same region with respect to the hyperbola

3} x
X_ 'E.'" o .
———=1(a>»0). then the range ofa s

2

) 3

2 J (a>0) 03 28 w3HTovabo cé{;,gﬂé, (1. 1) 9 Dochdsd) sdobasn

a’ 1
H070) Doty w8 arodod” &ol, SR\ 4 g T

Options :

-~ (042)

4.,

Question Number : 59 Question Id : 5500531019 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



=-2. then the coefficient of X in the expansion of

3 A
If lim—{/}&_ iy’
X-1

1=l

({/F%{/\T]J 18

- S B, ; \
limM:—z 0008, B\ (i/\i‘ radly’ ]4 abog), Do’ X g

=l x-l

Hoeaso

Options :

Question Number : 60 Question Id : 5500531020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let [t] represents the greatest integer not exceeding t and C =1-2e".

If the function f(x)={ae" +[x-2], 0<x <2

iie'“]—(‘. Rzl

is continuous at Xx=2, then f(x) is discontinuous at

£3 D00 (163 QrTross0 [1] Ardinod Sobat € =1-2¢" wSoro.

[e‘]. x<0
f(x)={ae" +[x-2], 0<x<2
[e'ﬂ—(f. X22

93 DAV X=2 Y eaé’):ﬁthémlsﬁn 0908, 9\ f(x) E)&‘)élm: G300

Options :
x =lonly
X =158 S
1.¢ ©
X=0and x =1
X=0d8cdvx =12 H&
2. % “
x =0 only
X =0 5¢ Hrehdd
3. % -



Xx=0.x=land x=

o | =

e | x=15‘.1360§.13:{=§ 9.}55:3

Question Number : 61 Question Id : 5500531021 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 6+x 36+%°
> . H
If f(x)=(0 x-3 3x -27|. then lim (x) =
; =1 (-X)
0 2x-—-4 8x -32

6+x 36+x°
- ) 5 f(-x:}
f(x)=0 x-3 3x"-27/e9008, )\ 1111:11f =
: H=2 N
2x—4 8x"—-32 )
Options:
2
1. %
—1
2. %
0
3. v



Question Number : 62 Question Id : 5500531022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
f(x) is differentiable on Rand f'(m)=0. meR.

xf(m)-

If lim i) +f'(m)=f(m). then m =
x—m X—m

R 2 f(x) ed80dah Davabdmw odaiw f'(m) =0, meR.

o xf(m)-mifix
lim (m) ()
x—+m X —m

+1'(m)=1(m) oo, @Y m =

Options :

Question Number : 63 Question Id : 5500531023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let f(x)be a differentiable function such that f(1)=2, £(2)=6and

f(x+y)= t‘(x)+k¥y+§yj VX, yeR, then f(x)=

f(1)=2. £(2)=6200030 &) x.ye R o f(x +y}:f(x)+kxy+iy3

2
eociittnr f(x) w8 Bdgodal A0 wond, B\ f(x)=
Options :

Question Number : 64 Question Id : 5500531024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5e'* 12
Let f(x)={ 3_g'®
0, X

. X

e

0

0

Thenat x=0, xf(x)and f(x) are respectively

JSEI‘"" +2
3"

WO. x=0

S EE
£(x)= rE
R0L0Tr0. WY X =0 S¢ xf(x) So8atn f(x)en S

Options :

Differentiable and continuous

e0S5<o Do 8o DD\ DY

Continuous and differentiable

DD D) B B0 evdg a0
2. % '

Continuous and not differentiable

9 DD\ &0 0805 BBSVAHE S0
3.¢

Not differentiable and continuous

oS gNoi0 SPE H8aiw wﬁﬂgé‘lm
4, %

Question Number : 65 Question Id : 5500531025 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ordinates of the points on the curve y=Tan™ (sin Jx), 0<x <87, atwhich the
tangent is parallel to X — axis are

Sgoy=Tan"(sinyx). 0<x <87, p 9 Dotoye 96 A 16w X - 6
DAFOBG0TP &0t08, 8 Dot Y- AErngdnen

Options:
n
1. % 3
{8
2. % 6
i
4

3.¢¥
L
4, % 2

Question Number : 66 Question Id : 5500531026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. , 54
The function f(X)=x"+—

X

, 5
el Eudioo
b4

Options:

is increasing and has minimum value 27 in the nterval (0,»)

(0,0) wocidods’, es83e30 OED 502 Dewd 27 &0 $9A eotnod.

1. %

is decreasing and has neither maximum nor minimum in the interval (-0, 0)

(=2,0) wodsdodS’, 5B irmo oBakw 163, S0 Dendord $9A eodcd.
2.9

has maximum value 27 in the interval (-0, )

(—o0,o0) evoes 065, d&i;& Ded 27 Ao €08 eotod.
3. ®

is increasing and has neither maximum nor minimum values in the interval (-, %)

(~0,0) woddod’, esbipmao SoBakw 83y, $0% Densden $BA eocich.
4, ®

Question Number : 67 Question Id : 5500531027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If (a’ ~1)x +ay+(3-a)=01s a normal to the curve xy= 1. then the interval in which
‘a’ lies 1
xy=1 358 (2 -1)x+ay+(3-2)=0 wg wdvow B wand, ‘a4’ Jwdww ol

woeddo
Options :

[-L1]u[2,%)

(—=0.—=1]w(0.1]

2. ¥

3. % [_1-.1)LJ{1_I_)

Question Number : 68 Question Id : 5500531028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: . : 59 ;
The maximum value of x*y*when a’x* +b’y* =¢° is

a’x’ +b’y" = ¢ wonsind x'y AB0E), (102 DLDd
Options :
Clz

16a*b?

1. %



C

o % a'+b?

Question Number : 69 Question Id : 5500531029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

_ [xcos®x—sinx
sinx ( )

Je - dx =
Cos X

Options :

v e (X —secx )+ C

- ™™ (x —cosecx )+ C

Sf.ll]{(

(=

X+secx )+ C
3. %

e™* (X +cosecx)+C

SEmX (



Question Number : 70 Question Id : 5500531030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

B

E‘:f'a., then f(x)=

If f'(x)=acosx+bsinxand f'(0)=4, £(0)=3.1 5

f'(x)=a cosx+b sinx datn 1'(0)=4. £(0)=3. f‘;

Options :

1 2cosX +4smx +1

, % 4COSX+2sinX +1

3 % 2€OSX+3sinx +1

4 % ACOSX +sinx +1

Question Number : 71 Question Id : 5500531031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ifjf{x}d}i:‘P(x}‘ then [}:Sf{f}dx:
jf{x)dx:‘l’{x) e9000EB, jxﬁ f(x*)dx =

Options :

é[xh{‘(f)}—_[ x"P(x’)dx

1.4



%[xj‘l“(xg)}+J‘xz‘P{f}d};

2. %

_%[xm:ﬁ)]—j P (x7) dx
3.%

_l[x31{1(33)]+ [x*®(x*)dx
4, % : ‘

Question Number : 72 Question Id : 5500531032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. . 2

. psin” o —sin” X ”

If j dx=1(x)+Ax+B and BeR, then
COSX —COsdl

sin® o —sin’ X
J dx =f(x)+Ax+B H8ciw BeR wand, ZONAY
COSX —COS O

Options :

- f(x)=2smx. A=cosd

1. %
- f(x)=2smx, A=2cosd
3 o [(X)=smx, A=cosa

4, #



f(x)=smx. A=2cosu

Question Number : 73 Question Id : 5500531033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Options :
1 ; ” o
— = 2 G g™ ) =
, om+1)
1 s
2X" +3x 4 6x™ )= +C
5 % 6(m+1)"

1 m+1
———(2x*™ +3x™ +6) = +C
6(m+1)"

3. %
1 ok
) -
——(2x* +mx™® + 6x™ ) = +C
6(m—1)"
4, ®

Question Number : 74 Question Id : 5500531034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



i
If a € Z" [x] is greatest integer not more than X and Jz[xidx =127, then a =
0

a

aeZ’, [x] @8 X 508 dy 57 (162 YrTros Subokn IZ[*]dx =127

0
£90008, WY a =
Options :

6

Question Number : 75 Question Id : 5500531035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sinx. sin” (cos x) dx

;‘-——.Iul;l

Options :

1—sin2



!
1

"1+sin?2

sin2—2

Question Number : 76 Question Id : 5500531036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1

The positive value of x satisfying the equation J(i —)dt= % is
1 1 "‘

ju— t)dt =% PSR By HOB X CBOS), ST S Dewd
X

Options :

TR



I-2

Question Number : 77 Question Id : 5500531037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The area (in sq. units) bounded by x =4, y=—4and y=x1s

x=4, y=—480in y=X S503 DBERD FTR0 (5. chrdee’)
Options:

% 48

Ly
I3

L x 24

4 % 16

Question Number : 78 Question Id : 5500531038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The particular solution of the differential equation (1+ y’ )clx -xy dy=0, y(1)=0

l'epl‘ESEIITS
o500 86630 1+ )dx—xy dy =0, y(1)=0 dog) HBE TG ardod

250



Options :
a circle

208 a0

a part of parabola

Do 57D wE 2o

a part of ellipse

EBDyB:0 &' g erdo

a part of hyperbola

IDDT Do 57D 2w 2o

Question Number : 79 Question Id : 5500531039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ¢ and d are arbitrary constants, then y =e™ [c coshy/2 x + dsinhy2 x] is the

general solution of the differential equation

¢ o8k d &0 oirENS 08 TR WS, WY
y=¢” ( ccoshv/2 x + dsinhy/2 x) SRR Ja DR ES BRI LR
Options:

. V' +4y' +2y=0



y — 242y +2y=0

Question Number : 80 Question Id : 5500531040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following 1s a homogeneous differential equation?

& 308 980D HDLBETFOS’ DANFHAD BHLVD DAEGE0 DB?

Options:
dy :
= =x’ +(sinx)y
1. % dx
X
dy =
L =(x’+y)e? +x\/§
) x X
(x* +y*)dx =2xydy
3.¢
dy %
X—=Yy+e
dx
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Question Number : 81 Question Id : 5500531041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of significant figures in 4.870 m 1s
4.870 m &' FYS Dowd{e

Options:

—
¥
f4d

-2



Question Number : 82 Question Id : 5500531042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, velocity (v) — time (t) graph representing the motion of a
vertically projected body is

$08 88, o (V) - 50 (1) D 0" by YT DD DI HVY
riaﬁ:mi)lmzﬁomaﬁ&

Options :

thrs

D%f
2.

IS
L

—

L&

\/(

o




Question Number : 83 Question Id : 5500531043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The resultant of two vectors A and B is petpendicular to vector A and the resultant

magnitude is equal to half of the magnitude of B. then the angle between A and B
is

Goch 6% A 28050 B © D840 A HB3D vorom $obir, DS H6%

2870, 268 B 2647m06" o 08, A 20800 B & s S0
Options :

30°
60°
150°

120°

Question Number : 84 Question Id : 5500531044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At any instant ‘" the vertical distance “Y" and horizontal distance ‘X’ of a projectile
are given by 2Y = 6t gt and X = 4t. The initial velocity of projectile is

(X and Y are in metre and t is in second)

QB 220000 ‘1" B HEDL0 VYT Yosredocdd Krdo T Bty &S
RirodGore DOLrEodd Grdo X ody 2Y =6t-gt’ &dokn X =4t @) &
DEDg0 89 o

(X 508050 Y otb & Bk t 28 &)

Options :

_— 3 ms™!

= |
5 4 ms

Sms

6 ms

Question Number : 85 Question Id : 5500531045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A lorry 1s moving on a smooth circular path of radius 50 m with a velocity of 20 ms™.
Then the banking angle of the road is

(Acceleration due to gravity = 10 ms"‘z}
50 m aﬂ?@ﬂgo o) AR w8 JT"sE Ao Dot WS erd 20 ms” Aidwd

SO &od. wowd & Srdo g, erjoSoh S0
(thdod] b0 =10 ms™)

Options :

tan™"

-h-|"J|

Question Number : 86 Question Id : 5500531046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: o - 1
A body of mass 1 kg is moving with a velocity 10 ms~ due to a constant force on a
horizontal rough surface having coefficient of kinetic friction 0.4, If the constant
force 1s removed. the body comes to rest in a time

(Acceleration due to gravity = 10 ms?)
28 i@nd 200 0 0.4 1{3@5 e e (o 16 dwoa 1 kg Qaﬁsm% fio
520 10ms™ Sridwd $dar od. %d DY) BRIV, & S0 L VS

T IS faeg SPOA

(thdod &ideao =10 ms™)
Options :

25,
1.&,_.55
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Time:0

A ball of mass 10 g is allowed to fall down from 10 m height. After collision with
the ground if 50% of its energy 15 lost. then the height reached by the ball is

G503 10 g o 2% 008 10 I odk $0B3 DAk BT, 2irid & & 88y

ST o 33 6 50% 330 2608, b 96 pS BS6r1DF I



Options :

1 % 4m

6 1m

5m
3

7m
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Time:0

A Domb at rest explodes into three pieces of equal masses. If two pieces move
perpendicular to each other, each with a speed v then the speed of the third piece is

I3 RAE” ) w8 erond AT GO o Kre 08 e DT\
30806, Toth Swg) e wSmrAE e von H30E, 2848 v 23S 38 Jurd

S0g), g, S
Options:

vV

VA2

2. %




Question Number : 89 Question Id : 5500531049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body rotating with uniform acceleration about ifs geometrical axis makes
§ rotations 1n the first 2 seconds. The number of rotations the body makes in the
next 3 seconds is

(Initially the body 1s at rest)
2r(DoB0% @50 DO Ay S(6eaod Fadoemo DRV w8 V) B

2 28008 § doren Sr. ST 3 28008 530:9) B Fdorre Doa
(ool S0 Jto 23’ goch)

Options :

h

0

-
h
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Question Number : 90 Question Id : 5500531050 Display Question Number : Yes Is Question
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Time:0

A solid sphere is pushed on a horizontal surface such that it slides with a speed
35ms” initially without rolling. The sphere will start rolling without slipping when
its velocity becomes

P20’ Bdor a3 DRorT w8 & ﬁs@.ﬂb;l 35ms”T DAF g 02 DIFodd

o AP, Ao arddor Shi Awden Dok fivo o

Options :

_l
.
| ¢ 2.5ms

5 ms

o =
3 % 2.0 1S

4 % 7 ms

Question Number : 91 Question Id : 5500531051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mechanical energy of a damped oscillator becomes half of its initial energy in 4
seconds. In another t seconds its mechanical energy becomes 12.5% of its initial
mechanical energy. Thent=

w3 oShe Godo Gtus) alrods 33 8 airods #36° wrio eckjockos DY
00 4 25060, DB 1 %06’ o alrods 33 §9 airods $38 12.5% erbiv,

eI00A) [ =

Options:



12 8

4% 16 s

Question Number : 92 Question Id : 5500531052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When an external force with angular frequency o, acts on a system of natural angular-

frequency o, the system oscillates with angular frequency o,. The condition for the

amplitude of oscillations to be maximum is
gedoh PRI 0,00 28 LR P gedoh PRI O o W BB

2 HAIPASRNED, &8 350 0, Srak FdepRed SodTen Say. S0

DB (18230 bt TPHOND DE.

Options :
®M,=2m

1.2 ¢
D, = @

2.v ¢
. = (JJ
;= —
2



Question Number : 93 Question Id : 5500531053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A uniform solid sphere of mass M and radius “a’ is surrounded by a concentric
uniform thin spherical shell of mass 0.5M and radius 1.5a. The gravitational potential
energy of a unit mass kept at a distance of 2.5a from the center is

M @3§0°3, ‘4" Frfrdan o w8 208 Aivo ot 1.5a g fo w8 fieseg
25" fio D¢ Sogior ek, & 6’ Ao dwg), G5 0.5M eand Sogdw

dooc 2.5a trdosS” Gotsendtad Dare GO(0m3 0R0E) DA B8

Options:
—3GM
e 08
3GM
, & Da
2GM
- Sa
—2GM
Sa



Question Number : 94 Question Id : 5500531054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A cylindrical rod made of aluminum has length 1 meter and diameter of 10 cm. The
rod 1s subjected to a tensile force of 100 kN. The elongation in the rod i

(Young's modulus of aluminum = 70 GPa )
10 cm rdw, 1m T o Ararsd vurbdabo sé 2 100 KN 358 eowo

2aIrfiodB. w0 & 42 Td' Sy dDirdde

(werrldobo aivg) alboh theasdw =70 GPa)

Options :

0.81x10%m

2x10™*m
0.2x107*m

1.81x107* m
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A large open top water tank is completely filled with water. A small hole of diameter
4 mm 1s made 10 m below the water level. The flow rate of water through the hole is

(Acceleration due to gravity = 10 ms'zj
D Surd 62, Docore A o) 8 ¢ Ay EP{os € B LoDy 10 m Brddwd
410 J§R30 0 28 ) Gogn 38, & Gogidud ot QB DT et

(8o SBes0 =10 1115'2)

Options :

14.14x10° m’s™

1. %

2.1x10° m’s™
2, %

1.77x107% m’s™
3, %

0.177x10° m?s™
v

Question Number : 96 Question Id : 5500531056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The phenomena of lowering freezing point of water by the application of pressure is
known as

D030 S0 BoL0 HOH D& e, 0BHD e8%0 Sfoserdy

00608,
Options :

1. %



Sublimation

er?::}aﬁbém

Regelation

NOGD FBHHAD
2. ¥ %

Precipitation

323D B8

Crystallization

abe:ﬁ%ssmm
4. ®

Question Number : 97 Question Id : 5500531057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A steel ball of mass 200 g falls freely from a height of 20 m and bounces to a height

of 10.8 m from the ground. If the energy lost in this process s absorbed by the ball.
the rise in its temperature is

(z= 10 ms™, specific heat capacity of steel is 460 Jkg 'K
200 g © 060 o w8 659, w08 20 b AoRv0E BT 0 p Hd Wber
10.8 20tag A0S Schisood. & HIE’ §'\ad 333 wod dreddtond, T

&8 dbrvce
(E—’ =10 H]S'z, ee‘%mgzj 460 ]kg-lK-IJ

Options :



. 01°C

, x 1°C

3 @ 0.2 °C

Question Number : 98 Question Id : 5500531058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A work of 166.28 J is done to adiabatically compress one mole of a gas. If the
increase in the temperature of the gas is 8 °C, the gas is

(R=8314Jmol K)
208 DS TRV ?g%é 2308 D Do Saberd3 166.28 73
S5V S0, TAY TS eg‘*g@e‘s" iy 8°C wowd, & o)
(R=8314Tmol K7
Options :

monatomic

D¢ HEATELE TPaivD)

1. &

diatomic

BLDEATEVS T°C30D
2.9



polyatomic

LIETPODGATCES ST°036Y)
3. %

mixture of diatomic and polyatomic

&5 06030 222770 DEEATPEWLS TPOIVNHL B0
4. %

Question Number : 99 Question Id : 5500531059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a Camot’s engine, as the gas absorbs heat energy from the source, then the
temperature of the source

28 5°8) abodod, raoi) earsabo duod e3383 o, earsabo Gwg)
egﬁm
Options:

decreases

SOB00H

increases

Faloblgblublelal

remains constant

Do Sotnod
3. v @



becomes zero

A 5008
4w maﬁiws@; 0

Question Number : 100 Question Id : 5500531060 Display Question Number : Yes Is Question
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Time:0

If the rms speeds of helium and oxygen are equal, then the ratio of the temperatures
of helium and oxygen is

T Yk 2Bk e5dyud g s Seoen ArdB. rHoko LBak
dyad v el tido s
Options :
| L8
21

1:4

4 % 4:1
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Time:0



The ratio of radii of two wires is 1:2 and the density of their materials are in the
ratio 1:4. If same tension s applied to both the wires then the ratio of the speed of
transverse waves produced in them 1s

Goct Sl TFTe A 112 080k 78 drTre Fogdw g 114, @
Both) B a3 écﬁigérﬁ: 2908008, TOS'D e‘iéd?gé Sdorre dco Dt’qb{.’j
Options :

. 116

, % 1611

- 1:4

4V 4:1

Question Number : 102 Question Id : 5500531062 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The frequency of a light ray is 6x10" Hz. Its frequency when it propagates in a
medium of refractive index 1.5, will be

w8 5708 860 Faapdfo 6x10" Hz. 382889 tbrso 1.5 o asrdso hom e
508 $6130 DBV T g ﬂ“ég@é5o

Options :

. 1.67x 10" Hz



9.10 x 10" Hz

14
v 6% 10" Hz

4w 4% 107 Hz

Question Number : 103 Question Id : 5500531063 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two coherent light sources having intensity in the ratio 2x produce an interference

pattern. Then the value of % will be

max oin

5083 eﬁ‘s@eja i’)ﬁ.’qﬁ 2X (i) Gotd "eaoeacg 5°08) 2SR m¢5 5’35856930 200D,

max i

POV — T Dexsd
I 4]

max | omin

Options :

242X

x+1

X

2x+1

-2
12
bd




Question Number : 104 Question Id : 5500531064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two charges Q and 4Q are separated by a distance of 6 cm. The distance of the
point from 4Q at which net electric field is zero is

Goth DeErdTey Q ok 4Q ev 6 om Broodd” St Satbead &) ow.
Az 4Q dwod HBS xS o Brdgor Dotk dordo
Options :

1 % 2cm
6 cm

8 ¢cm

4 4 cm
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Time:0



Inside a charged hollow sphere, at any point the electric field (E) and potential (V)
are

w8 8538 ' fivo &0 ) Dot HET DS ES 694 (E) ot

Rl ﬁ“@@cmes (V) en
Options :
V=0and E=0
V=080 E=0
Vis constantand E=0
V f‘&:ém 630 E=0
2. '
V =0 and E 1s constant
V =0 H08c3» E »8A0
3, % -
V is constant and E 1s constant
V .?gdm Su6adw E ?gdm
4, % ' '
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Time:0



The equivalent capacitance between A and B in the given figure is

0D &0 A, B 0 dud dovy SIrnedy

Question Number : 107 Question Id : 5500531067 Display Question Number : Yes Is Question
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Time:0



Two metal wires of same length, same area of cross-section have conductivities of
their material o, and o, . If they are connected in series, the effective conductivity is

W8 TED), 3 SG[B\¢ ST o Both BifL VPG TIPS 6, 2B, .
& Ao 336" $Dd HdY rirdss
Options:

G,0,

GI+D-E

26,0,
&) +6,

G,0,

30—,

26,0,

c, — 0,
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Time:0



In the circuit, the cells are having negligible resistances. If the galvanometer shows
null defection then the value of V" 1s

B0y Hahod' wrw g, wodd) Baren ) bocs BADD.
mvsbwmoé’ﬁ 5480 Bridjo wowd, V" dens

M0 G

v | 20000
L

Options :

AV

3. %

4 2V

Question Number : 109 Question Id : 5500531069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If “q’ is electric charge, B is magnetic field, ‘R” is the dee radius and ‘m’ 1s the
mass of ions, the kinetic energy of the ions in cyclotron is given by

esxerdto ‘q WK 08 Edo B, é T{rgo ‘R’ Sobako wakrg g o3 W’

wond pSErd & walrd dons



Options :

gBR
| % 2m
qBR
5 % M
qEBZRE
3 x 4mm
qZBERz
4 2m
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Time:0

Curl the palm of your right hand around the circular wire with the fingers pointing m
the direction of current and the thumb gives the direction of the magnetic field. In
this case the upper side of the loop may be thought of as

HTS6 & e J D& 3O e6Bon(d, S pTer 43¢ eby eol o
< ot $HE 3O Fbdden LaHF) 0 EY B3 @08, & Dotidyod

LT aws), erio Qer wboéém').
Options :

direction of current

- DANS DT TE?



direction of electric field

QRS ESHD
2. %

south pole

GEE3 Bydo
3 %

north pole

&S0 GQyedo
4.9 =

Question Number : 111 Question Id : 5500531071 Display Question Number : Yes Is Question
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Time:0
The Curie temperature Tc represents

SSiNe agge:a T 2rDo0dE
Options :

temperature of transition from paramagnetic to ferromagnetic

J°0° 903 090 &oct HE oI, 0TS PBDSD &'t

1. ®

temperature of transition from paramagnetic to diamagnetic

T 90O 0850 A00C COS 0K 0TS HIE DBDED &l
2. %

3.¢



temperature of transition from ferromagnetic to paramagnetic

DT 90D 080 od T 90, 0TS HEDHEDH &Y't

temperature of transition from diamagnetic to paramagnetic

a3 ORRF) 030 0l FT° WD), 0TS HBDE e'(iS
4. %
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Time:0
Physically. the self-inductance plays the role of
T 3gorr, DO DESBL0 & FG TS
Options :
inertia

a—ac:ié&o
1. ¢

Kinetic energy

, o (10283

potential energy

DEIES
3.8 @ s

4. %



velocity

SE

Question Number : 113 Question Id : 5500531073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. ; : 20 -
A resistor of 100 €2, an inductor of —mH and a capacitor of 0.1 |F are connected
2

in series to an ac source. The impedance of the circuit is minimum for a frequency
of

25
100 Q 8@, —MH 288w 8ok 0.1 [F 3ardbb 366" ws ac 28503

i

SodBATON. S0 e 030 &0 SR ﬁéaf.g_}bigo

Options :

5 kHz

10 kHz

15 kHz

4 % 20KkHZ
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Time:0



S—. 1 , ; - ‘.
The electric field in NC™ of an electromagnetic wave 1s E = 36y1 Sin (ot - kx).
The average energy density of the electromagnetic wave due to the electric field is

[ 1 )
—=9x10°Nm'C™
\ 4me, |

28 Debaicsonsak) o8 Sdotfo aing) e £80 NC™ &' E= 36y Sin (0t -kx).
S Edo S0 DEo[SaHF) 08 Sdors it 33 Fogd

{

——=9x10’Nm’C*

| dme, |

of

Options :

36x 107 Im™

;S
5 18 x 107 Jm

=

36x 107 Im>

18x 107 Jm™
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Time:0



When light of wavelength A incidents on a photosensitive material, photoelectrons
are emitted. If the wavelength of the incident light is reduced by 50%. the
maximum kinetic energy of the emitted photoelectrons becomes 3 times the initial
maximum kinetic energy. The work function of the material is

(h - Planck’s constant, ¢ — Speed of light in vacuum)

8601360 1 i 5700 a8 SO arg) ey 2o DS S dogiiw
GEFORRD. DES 500 6R05), Sborigd o 0% Sodd, & Jorioen &
623 (192 33 3 B 110 (10 338 GTrE0RD. DGR 1 Hdoako

(b~ o8 0050, € — HP OirRgod’ 5708 3¢ )

Options :

hc

-

1. M

he

=
2. ¢ 22

hic

4. F 3}'\.
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The total energy of an electron in an orbit of hydrogen atom is E. The potential
energy of the electron in the same orbit is

FE @ DESrPHE'D w8 E518°D w8 Jogd ndo 33 E. od 45D
JUTR AWE), N 35
Options :

E
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Time:0
Positron is the antiparticle of

TP DO O Srso B, HYATE S0

Options :

proton



electron

ISR
o

neutron

3 % RAT(E3° R0

photon

y o PR
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Time: 0
In the given circuit, when A =1, B=1 the values of X and Y respectively are

CANES Hdoohes” A=1B=1 eand X, Y & denden dhdmr

Da's

—Ln

Options :

1.0

1. %

1.1



0,1

0.0

Question Number : 119 Question Id : 5500531079 Display Question Number : Yes Is Question
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Time:0
In a transistor amplifier, the voltage gain 1s
Er 06 HE%0eS” ST DA

ol 83 & L8] %]
Options:

same for all frequencies.

ey ﬁ“é;‘.@aﬂéu& HaAFDdo.

high for high frequencies and low for low frequencies.

S i’)‘d)gﬁ’.g)aﬁ?gvs‘o B0 Sookw &S mg@mﬁm 389 5 &0chRD.

low for high frequencies and high for low frequencies.

B8 3‘5@@@5933 B8P 0Bk Sy :3%3‘2’.@_);5059.153 ) S E0toR.

low for high and low frequencies and constant at mid frequencies.
ey Sodoto wis ;’J“és@angusa SEVER I VIale 3%3?.’3_):!‘*5&)%3 0T

G0,
4, &



Question Number : 120 Question Id : 5500531080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. ; i : il i
The radio horizon of the transmission of an antenna placed on 20™ floor in a
shopping mall, where the height of each floor is 2 m s

(Radius of earth is 6.4x10°m)

28) 0820 21 0 (10 20 008300 dPh0f PG 065 Gk o) )

OA0Ir £68320

(8> J’&Sﬂgo 6.4x10°m )
Options:

1 v 22.6km
45 km
36 km

4 % 67.5km
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Question Number : 121 Question Id : 5500531081 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the region of spectral lines of electromagnetic spectrum, when electron
transition takes place from higher energy levels to n = 3. 4. 5 in atomic spectrum of
hydrogen is

TE@d S0l Jugdd p 38 Favo od 1=3, 4,5 v D8I
BoBRY Y sm]gmma%o@ 5 8306’ 5 5t Sarew D grododS’ LT AP
gV INVINWY

Options :

Ultraviolet

03 De) 65 2ed

Visible

N e
L

Infrared

eleplebla



Microwave

"mi& SSor

Question Number : 122 Question Id : 5500531082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Maximum number of electrons theoretically possible for an orbit with principal
quantum number n = 6 in an atom i

28 DEArEDS DT 00 003 1= 6 D060, i}goeﬁ HéorT 3300335 463
JUS"Y 0

Options :
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Which of the following statements are correct?
308 (RS ABEDHD AD?
I. P is having least negative electron gain enthalpy among P. S, C1, and F
P.S.CLFo & P VIO QPSS VTN e .;)fc}\c;ws.');J 131N

II. InEu. Yb Lanthanoid confraction is not observed
wrotsDE wo8do Eu, Yb & & fodocsin

[Il. Ce (OH)3 is most basic among lanthanoid hydroxides
rothdl PEEE © & Ce(OH); wd(BE TS0 Sb.

IV. The radii of Na and Na" are 95 pm. 186 pm respectively
Na u8a%0 Na'" © aﬂ}sﬁﬂgm 2@ 95 pm, 186 pm

Options :
L IIT, IV only
I IIL IV &g

1. &

II. IV only
5 % 1L IV dordao

L. IIT only
L. TIT soeedado

L, IT, IIT only

L. IL, TIT sorghao
4.
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Time: 0

The correct order of electron gain enthalpy of N, O. Cl. Al is
N.O.ClL Al o JozS ooy ;:}OGT’BJ © DBADA b
Options:

Cl<N<QO< Al
W

Al<N<=0 <l

O<N<Al<=<C(Cl
W

. x N<O<Cl<A]
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Time:0
The correct order of bond enthalpy of given molecules is

f:?ésaaci:ﬁ €LY 208 Qom&):] © DBADRD S0
Options :

O <Nz <Hp

1. %

2. % NE < 02 < Hl

3 % HE{': N2 < 02



4w H>, <0y < N>
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Time: 0

The number of bond pairs of electrons and total number of lone pairs of electrons in

XeOF4 are respectively

XeOF, 69 06 8o JUT"Q V02, Ao 2od 2 JUTD o[ SR

Options :
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At T (K), an ideal gas (Z) present in V L flask exerted a pressure of 16.4 atm. Its
concentration is 1 mol L™, What is the value of T in K?

T(K)se, VL @wf% & 0%y 8ol TawD (Z), 164 am © %aaan:)l o
F300, o e Tmol L7, T Dend K 06’ dod?

Options :

. % 100
, « 400
5 % 300

200
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At 300 K. the following graph is obtained for one mole of an ideal gas. If its
pressure is 10 atm, then its volume (in L) will be

300K 56, 28 aré 886, Troid 308 0 w08, T AEdIw 10 atm

008 o dNBAreR0 (L 08') Jod?

P
T slope= 1.1
()
—_— |
v
Options:
v 011
, % 1.1
. 2.0
3. %
4% 4.0

Question Number : 129 Question Id : 5500531089 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X, y and z respectively in the following reaction?

306 ¢565] & X, Y 080k Z e SR AD?

xFe™ (aq) + yH' (aq) + zC1,07 (aq) — ;IHQO(I) +xFe™ (aq) +2zCr** (aq)

Options :

I O O

Question Number : 130 Question Id : 5500531090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the enthalpy and entropy change for a reaction at 298 K are -145 kJ mol™ and

650 7K™ mol respectively, which one of the following statements is correct?
298K 36 w8 6 domdy, oS’ 06" drdoyen S -145 kI mol ™

-650 TK mol™ e9od $08 Didv6ess’ D8 HBanA?
Options :

1. %



AG = —50 kJ mol™ . the reaction is spontaneous

AG = —50 kI mol™ . 56§ @030 $yeh0

2 | i :
AG = —48.7 kJ mol ™ . the reaction is non-spontaneous

AG =—48.7 kJ mol ™, I3[ VOGS B0

2. %
AG = 450 kJ mol ™. the reaction is spontaneous
AG = +50 kJ mol ™, <58( OB SySo
3. %
AG = 48.7 kJ mol . the reaction is non-spontaneous
AG =48.7 kJ mol ™, 56 DAY S0
4.

Question Number : 131 Question Id : 5500531091 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

11.0 L of an ideal gas at constant external pressure of 5 atm is compressed
isothermally to a final volume of one liter. The heat absorbed and work done
respectively. during this compression (in L atm) are

emt’.:r:-5 2¢&0 5 atm sﬁcg 110L eﬁddgmom:)) ;’\321:“:851 Do’ S0 d0BSTE0

8 Dot  008Don B8, firodd G, 308 O St (L atm 0F)
Options :

1. G '50. 'SU



Question Number : 132 Question Id : 5500531092 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Given below are two statements

Statement I: The changes in pH with temperature are so small that we often ignore it

Statement II: When the hydrogen ion concentration changes by a factor of 100, the
pH changes by one unit

In the light of above statements, identify the correct answer from the options given
below

S0 Gocd) TR0 R0
e agﬁgeﬁ PH &' 503 e eoyen erer (00 S808 & Smtyoid D)0t
bz.ﬁJQ&‘lJ
iy II: rEad walrd med 100 6 $r6d, pH & a8 abrdS Sty
2D

D TR0 BErGorT So8 DO Wod PO 2T e Hotod:

1
Options :

1. ®



Both statements I and II are correct.

s°ga0f I 08adn orfadg 1T Soctor 2OA.

Both statements I and II are not coirect.

3°qa0f I 0803w oefaog I Soctor DOAHA 57

Statement I 1s correct but statement II is not correct.

°ga] I DOCDLIE 570 orgay I DOCHLIE see.
3.¢ h

Statement I 1s not correct but statement II 1s correct.

(0§ I 2OCDLIE 57 52 Trjaf I DEALIHA.

Question Number : 133 Question Id : 5500531093 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



One mole H,O(g)and one mole CO(g) are taken in 1L flask and heated to 725K. At
equilibrium, 40% (by mass) of water reacted with CO(g) as follows.

H?O(g)v; CO(g)=H, (g)+ €0, ()

Its Kp value 18

w8 e H 0(g) 2080sw a8 26 CO(g) ok 1L @%& & SED 725K Hd
38 B, TR 36, 40% (BT(SL%0m) A6, CO(R) & 306 Deborr 36
Q0808

H,0(g)+CO(g) = H,(g) +CO,(g)

) K, deos

Options :

2.220
, . 0444
L % 4440

4 0222

Question Number : 134 Question Id : 5500531094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following methods can not be used to remove permanent hardness of water

$08 D0’ BIV edcrAcd D THS SRS Fohocsdinn?



Options :

Treatment with washing soda

006 Jord DG 2EDCEO

Ion — exchange method

IO DO DOS

Treating with Calgon

s“eﬁafa Y t‘f}dﬁ 2800

Adding calculated amount of lime

Sleigy QS;TSQA’J maﬂ‘lﬁi goneto

Question Number : 135 Question Id : 5500531095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statement(s) is/are correct?
(1) Li NO3, Ba (NOj3), both will give NO; on heating
(i1) BaSOj 1s less soluble in water than CaSO4

(111) Alkaline earth metals do not dissolve in liquid ammonia

308 DHGBOS” A /DD DOTID?

(i) Li NO;, Ba (NO3); Soco DES0d:2n¢ NO; 2o adrow
(if) OBS” CaSO4 SotS BaSOy 35 S5 S6xrHS008

(ii) B0 )8 &°5Pen B ), Aaires” $6K%Y
Options :

1 only

1 g0

i. 11 only

i, ii oD
2.V

- 1.1 & 11
1, i1 only

i, iii Soesdo
4, %

Question Number : 136 Question Id : 5500531096 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Statement I: Boron does not exhibit allotropy

Statement II: Boron 1s exfremely hard and black coloured solid

DadSed I 5’070 drdrodBe &0 D605

DdSes TI: 850D DY Gorh (o rer B 0 Do
Options :

Both I & II are correct

I & II Go&ls® 2B

1. %

Both I & II are not correct

I & II Go&lo® DBAD 57

I is correct but II is not correct

I 5338 529 II ©358 S°&o
3. %

I 1s not correct but II 1s correct

I £358 260 509 11 H8H8

Question Number : 137 Question Id : 5500531097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not cotrect?

208 TS DB DTIE 5707



Options :

Lead does not show catenation

SE SHIND K0 DEB 0B

1.%
Buckminster fullerene contains 20 six-membered rings and 12 five-membered rings
85 00 YYOR 20 &5 576, Swairody dain 12 06 5°6y0 Svairod
494 odwotnod
2. %
Stability order of GeX;, SnXs and PbX; 1s GeX; < SnX; < PbXs
GeXs. SnXs H8o3w PhXs © %6@5 800 GeXy < SnXs < PbXs
3. % '
The number of metalloids in group 14 elements is 2
Hro 14 Sveosteds’ e S"5fe Doa 2
4.

Question Number : 138 Question Id : 5500531098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The decreasing order of priority for the following functional groups in the TUPAC
Nomenclature i3

TUPAC ra086e08", ocs pidenciad Dok surmidte) Sritnoae o givo

-S0,H,-CN,-COOH, -OH,-CHO

Options :



, o "COOH>-S03H>-CN>-CHO >- OH

, « -SO3H>-COOH > -CN >-CHO >- OH

, » “COOH>-SO;H>-CHO>-CN>-OH

4% " SO3H > -COOH > -CHO >=-CN > -0H

Question Number : 139 Question Id : 5500531099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arrange the following free radicals in the correct order of their stability

808 DIy FODALLR DFD VOS] $2008" AN

(i) CHy=CHe (ii) CH3+ (iii) CH;— CH —CH;3 (iv) (CH3)3C
Options :

1=1> 1> 1v
1. %

N e
2_&?““ 111 11 = 1

1<i< Hi< iv

4w V> dii> i>ii



Question Number : 140 Question Id : 5500531100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The given unit cell belongs to the type

'::izi')hé QAL DD & BS0HL Bocedrod

2 e
B
TR

Options:

Primitive unit cell

FEE 0B e

Body centred unit cell

e903:508e Ao 25

Face centred unit cell

- DO SobHes AL S

End centred umnit cell

e9odd{ SoQeh AP VS
4.+



Question Number : 141 Question Id : 5500531101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

6 g of a non-volatile solute (x) is dissolved i 100 g of water. The relative lowering
of vapour pressure of resultant solution is 0.006. What is the molar mass
(in g 11101'1) of x?

6o s eﬁwaﬁﬁ) gz (x), 100 go S 6oy, TR T

w0l o) d 0.006. X 608, Arerd G (g mol” u8’) Jos?

Options :

100

180

Question Number : 142 Question Id : 5500531102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The molality of solution, when 18 g of glucose is added to the 18 g of HyO 1s
18 g o dr8% 2, 18 gof Hy0 & D0 Trideso aiog), 3werde

Options:

1% 055m



, & 2.55m

3¢ 2.35m

Question Number : 143 Question Id : 5500531103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The molar conductivity of 0.027 M methanoic acid is 40.42 Sem’mol™. The value
of dissociation constant of this acid is

it B . yuci -1 7" ? -1
= i = 'q
{G]VEI’MH+ 349.6 Scm™mol™ and . 54.6 Scm” mol ]

0.027 M DogSans esavo Arerb aParsdio 4042 Sem’ mol™. & &0 vk

=54.6 Sem’ mol")

3 B - =
RS0 Nend (ﬁ.H_ =349.6 S’ mol™, A
Options :

1.5x107

1. %

, . 6.0x107

L« 45x107

4
_ 3.0x10



Question Number : 144 Question Id : 5500531104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the reaction carried out at T(K)

A(g)+B(g)— C(g)

The rate law for this reaction is r :k[A]l [B]l . The concentration of A in experiment

2 and rate in experiment 3 shown as X and z in the table. X and z are respectively

Experiment [ﬂs] [B] Initial rate
moll’ | molr? | (molL’s™)

1 0.05 0.05 R

2 X 0.05 R

3 0.20 0.10 i

T(K) o) 2003 LIV Pl6lge oMY
A(z)+B(or) — C(a)

& 0% Gkw Dotoidoo, 1=K[A] [B] . paiirrio 26" A o, paiirio 3 &°

G0 X 8040 7 &0 Artotrd. X 080k Z 20 ST

paariaw | _[A] [B] | &0z Bt
et 1
mol L. molL [11101 [t )
| 0.05 0.05 R
2 X 0.05 R
3 0.20 0.10 i
Options :

- x=0.10 z=8R
F




¢ X=0.05 z=4R

., Xx=010 z=16R

L% X=020 z=16R

Question Number : 145 Question Id : 5500531105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s not correctly matched for enzymatic reactions?

& 308 88" BIabocy DB SE[RD B wdBabeE S

Options :

Proteins — Amino acids : Trypsin

TOR - dDoTesadaren ; BDVD

Starch — Maltose ;. Diastase

Qﬁg& - mgaﬁ; EOSRE

Sucrose — glucose and fructose; zymase

28R 48, p8R; BB

Maltose — glucose ; Maltase

HrSE P arEE; Srgs
4. %



Question Number : 146 Question Id : 5500531106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The greater the valence of the flocculating ion added, the greater is its power to
cause precipitation of a colloid. This rule is

2,083 Boird ;5@53 280 S8 Serand Db o 1,063 &mgéo PS8,
& Qoo

Options :
Hund’s 1ule

moﬁb KalensPubls)

Pauling rule

FOoh Dodboo

Henrv’s rule

R Dodso

Hardy — Schulze rule

ﬁé e mg oo

Question Number : 147 Question Id : 5500531107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following Ellingham diagram, and identify the incorrect statement
regarding it

306 2Boio Hro) 2830od), S08 TBS" A ey HBVA S ot

-1000 —

-1100 =

AGTin I mol! of O —»

'1673K]

Options :
At point ‘A’ for the reduction of Al,O,byMg., AG"=0

DocoDp A d6 Mg & Al,0, $0086e7d3 AG° =0

1. %

Below 1673K. Mg can reduce Al,O, to Al

1673K Sods, Mg, ALO,&0 Al ™ £035°880ca0
2. %

Below 1673K., Al can reduce MgO to Mg

1673K 806, Al, MgO & Mg ™ £a5-88080%0
3.

Above 1673K. Al can reduce MgO to Mg

1673K 2&, Al, MgO & Mg e £00E80e5080
4, %



Question Number : 148 Question Id : 5500531108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following, the molecules are arranged in the increasing order of their
bond angles?

308 &3S Bk et T 2o Seren DOF koS OO\ RE00]

Options:

Question Number : 149 Question Id : 5500531109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Select the correct order of radii of the given ions
3068 AHIED WOIFD T{FTPO VOGHN §Br) ) Sod

Options :

4 + 4+ I+
Yb* < Sm* < Dy** < Pr’

1. %



3+ I+ 3+ 3+
Yb" <Dy <Sm <Pr

2. %

L. 3. 34
Pr<Sm <Dy <Yb
3. %

Pi*t <« Sm* < Yb* < D}fj*

Question Number : 150 Question Id : 5500531110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among V., Cr. Zn, Fe. the metal having lowest enthalpy of atomization is

V. Cr. Zn, Fe o8, 0805 5 0608560 Jogrdy fo &'aro
Options :

v

, » CI

n

Question Number : 151 Question Id : 5500531111 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following polymer is used in the preparation of gaskets?

308 @ FD6 & TR © S03r08° SrcoTrdy?

Options :
+CHE—CH<}
L, In
1. % CN
JrcHg—f:HJf
L
5 % 6115

JFCHQ—CHJF
L

Cl

Jrc::F2 —CFZ—}
n

Question Number : 152 Question Id : 5500531112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List-1
A. Beri Beri
B. Scurvy

C. Cheilosis

D. Rickets

308 T8 &t DG

o -1
A 836838
B. %8¢
C. 35720

D. 55&5.53

The correct answer 18

28 HArErdo
Options :

1. %

List—1II
I. Riboflavin
II. Thiamine

I11. Pyridoxine

IV. Ascorbic acid

V. Vitamin D

oo -l
L 3e°DD
I, GoHad
IIL. p6E'3\S
IV. e537,8,§ wsadvo

V. 0 D

A-III B- IV, C-1III. D-V

, o A-ILB-IV,C~L D-V

A-IIILB-V.C-1 D-II
3. %



 A-IILB-V,C-1V,D-II
4, %

Question Number : 153 Question Id : 5500531113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The source of vitamin, whose deficiency causes scurvy is
D DD &0 1,64 TG SRS B &SNS o
Options :
Amla

&b

Cairot

508
S

(T
e
g

Question Number : 154 Question Id : 5500531114 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ranitidine belongs to which of the following class of drugs?
308 2) B0 docww BIBAS Bocoh08?
Options :
Tranquiliser

tros(Pad

Antiseptic

adrrotd SRE

Analgesic

DT 2S5

Antacid
e30DE S

Question Number : 155 Question Id : 5500531115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1- Chloro - 4 - nitrobenzene. 1- Chloro - 2, 4 - dinitrobenzene and
1 - Chloro -2, 4. 6 - trinitrobenzene are transformed to corresponding phenols with
the reagents X, Y, Z respectively. What are X, Y, Z?

1-88 -4- 380D, 1- §8 -2, 4- @ RiS'B0AD Sobasw
1- 86 -2.4.6- SRE'Bodd w X, Y. Z 565708 SO 78 200 Hdy

m ardyacron. X Y. Z w 27

Options :

X = (1) NaOH, 625K,

L (H:

X =NaOH. 625K;
4. %

Y=NaOH, 365K

Y = (i) NaOH, 368K.

.I_

(i) B

Y = (i) NaOH. 440K

() H':

Y=H)0:

Z=NaOH, 445K

Z =Wam (2¢) H,0

Z=0,0H"

Z =NaOH. 440K

Question Number : 156 Question Id : 5500531116 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which is the correct order of the following alkyl halides for an Sx2 reaction?

SN2 565", $065 RICIED 038) &3 SFTE © VOAND S0 AB?
) ) 2~ e 2

Options :

1>zl
1. %

5 & 1m-1-11

=1 =1

1> 11 > 1
E

Question Number : 157 Question Id : 5500531117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



X and Y in the following reactions are

308 :‘.’Jﬁgué‘ﬁ X S08okn Y en Stomr

COCH
(1)SOCI (1) ByHg
Yy -~ - X
(ii) Hy/Pd-BaSOy (i) H;0™
Options:
CH,0OH CH,OH
)
1. %
CH,OH CHO
<
N | !
2.
CHO CHO
3 %
CH, CH,OH
<
4, %

Question Number : 158 Question Id : 5500531118 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the reaction, if X 1s the reagent and Y 1s the product, which of the following is not
feasible?

368" X 560, Y ady)0 wand, §ob T8 28 deosdy?
COOH
X
Options :

X =Conc. HNO3;+ Con. H>SO4: Y =3 — Nitrobenzoic acid

X =rmr¢¢ HNOs+ ¢t HoSOy Y =3 - 285508 oS es:0
1. #

X =B /Fe Y = 3 — Bromobenzoic acid

X =Br,/Fe Y =3 - eS"ariod’ ans esso
2. W

X =NaOH., Ca0O Y = Benzene

X =NaOH, CaO Y = 83025
3. %

X =CH;Cl/ AICL Y = 3 — Methylebenzoic acid

X = CH;Cl/ AICk Y =3 - 30 Ho'ons esdvo
4,

Question Number : 159 Question Id : 5500531119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is a hemiacetal?

208 T°835° DB P DJNETES?

Options :

O OH
1.v

o) o\
2. %

O
NH

3. %

O O
4, %

Question Number : 160 Question Id : 5500531120 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In which of the following, reagent and product are correctly matched with respect to
benzene diazonium chloride as reactant?

dosraddo Hodd daba'dabo §56 L Howoded, $0& e’ Babhocky
0°56S0 08ak) &SD) 0 DO 2 dabegraw

Options:

Cu,0 ; C,H,Br

1. %

, » HL;GHLT
NaNO, ; CH.NO

3. %

CH,CH,OH : CH,
4,



